Hypothesis test for the difference of population proportions 

Airlines must be careful about the total weight of baggage carried by a plane on a commercial flight. Passengers with items exceeding the maximum single-item weight (usually about 70 pounds) must pay a fee (usually about $50.00 per item). Airlines continually monitor the proportion of overweight items in order to evaluate the appropriateness of the overweight fees. English Air charges different amounts for overweight items on flights to the U.S. and Canada than it does on flights within Europe. Recently, a random sample of 
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items checked on English Air flights to the U.S. and Canada contained overweight items, and an independent, random sample of [image: image2.png]


items checked on English Air flights within Europe contained [image: image3.png]


overweight items. Based on these samples, can we conclude, at the [image: image4.png]0.1
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) and the proportion of all items on English Air flights within Europe which are overweight ([image: image6.png]P,



)? 

Perform a two-tailed test. Then fill in the table below. 

Carry your intermediate computations to at least three decimal places and round your answers as specified in the table. (If necessary, consult a list of formulas.) 
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Perform a two-tailed test. Then fill in the table below.

Carryyour intermediate computations to at least three decimal places and round your answers as specified in the table
(Fnecessary, consult a list of formulas )

(Rounto atleastthree decimal [
places)
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Can we conclude thatthe proporiion of tems which
are overweightis different between the two types of
English Al ights?

© Yes

© No
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